KT-C Series

For Small to Meddle Size Antennas, 11~18m

As Slim As 60cm Tower Face, Lightweight and Strong, A Variety of Optional Components
Required Only Small Amount of Concrete and Easy Construction, Bolt Fastening Assembly

This KT-C series are a complete self-supporting semi-tapered triangular tower intended for a small to
middle size of antennas newly designed and developed from achievements of passed 20 years of history in
KT-N series towers engineering. It shapes slim but has a rugged strength so that a larger size of
antenna can easily be installed even in narrow construction site. A variety of optical height of the towers
can be choiceable according to the requirement of user's applications as it is classified into 4 types
ranging from 10.6m to 17.7m of the tower heights. Those part of structure needing for strength, is
solved by adopting a larger diameter of main post. Although it is slim, it is designed to meet the
requirements considering that a larger size of antenna can comparatively be mountable on the top of the
tower. Installing these antennas such as Yagi type HF antennas for Ham use while stacked Yagi for V
and UHF bands and an particular antennas like a sharing antenna system are mostly suitable. By
upgrading with use of elevator system (optionally available), makes it possible to perform for easier antenna
installation or for upgrading an to a larger size of antenna. Structurally, required tower height above the
ground is obtained by joining 2.44m long of the each tower section. The face width of each section is
41cm at the top section in the meanwhile 60cm at the bottom section. See work schedule list for the
details of the KT-R series installation procedures.

Concreteless Foundation Base Kit 5FB/Optional

Those towers which are not required the concrete foundation are also available (suitable in the case for
faster installation and uninstallation etc.). Applicable models of this foundation type are KT11C~KT15C.

KT18C
17.7m/h
Model No. Height above |[Allowable Loads |Allowable Loads| Concrete Mast Diameter Weight
the Ground (m)| (m?) 45m/s (m?) 60m/s (md) Rotator (kg)
KT11C 10.6 3.8 1.0 1.0 190
KT13C 13.0 3.0 0.85 1.0 Mentioned in the 215
KT15C 15.3 2.4 0.7 1.5 Tower Setup Guide 255
KT18C 17.7 1.8 0.5 1.5 305

* Allowable loads denote wind surface area of antenna in the wind speed at 45m/s and 60m/s.



ANTENNA MAST MAX. ¢ 61rmm TOWER SCHEDULE 5 2 —ti834 KT—C SERIES
SPREAD JOINING | BRACING
- (NOT FURNISHED) secTion | phenaloy | TOWER LEG [ TOWER BRAcE | O LT WEIGHT
FUFHERTZL (BN TUEN) NO. A F 8 JL-2 WAL e | AmALs He
\ Mx N SM-570 STK—400 SCM—435 | SCM-435 KG
I CH—34X 25X 2.6 _ M8x20
H 1T 370% 320 S 621.7 PIPE 09 31
“ CH—38x 25X 2.6 6-M8x30 M8x20
H 2T 370% 320 Charoat 621.7 PIPE 109 0.9 31
He CH-38x 25X 2.6 6-M8x30 | M8x20
i 1C 430x 370 Channal $21.7 PIPE 10.9 10.9 32
CH—40X 25X 3.2 6-M8x30 | M8x20
:} [ 2C 495x 430 Channel 621.7 PIPE 10.9 10.9 36
| CH—40x25x 3.2 6-M8x30 | M8x20
5 . “ 3C 555X 480 Ohary #21.7 PIPE 10.9 10.9 38
L2 S =
N CH—42x25% 4.0 6-M8x30 | M8x20
;: ! 4C 555x 480 ANl $21.7 PIPE o0 s 41
=5 CH—45X 25X 4.5 6—M8x30 M8x20
g 5C 555x 480 Craray $21.7 PIPE 109 0.9 49
J1 CH-48x25x 4.5 8-M8x30 | M8x20
p 5F | 555x480 Channel $21.7 PIPE 10.9 10.9 50
X T5E¢
o
25 / N\ \”
STRAP / \ N
| J3~J7 S5
J2 ¢
i AN . 34~
; JOMER BOLTS H.T.8. <__ ; As 34~48mm
3 MB8x30 - C: 2.6~4.5mm
§ © M- NAKV -8 o ED
N SECTION DIMENSION ( LOWER) TOWER LEG
wiEha (T 8
J3
rﬂ BOLTS H.T.B.
BOLTS H.T.B. o] M8x30
M8x30 o
B :
8 . S l°| uvoiNer
o o |[[e| JOINER 2 Mol 2 3
g I S S el zav7- ol V3T
~ o -]
~ L °| LEG L 1°] LEG
E3:3 E3:
J4 | g i
: J1~J6 J7/KT18C
I LEG LEG JOINT SECTION
BEARING PLATE I EA5
9 gk ANTENNA MAST || ARM
N FUFFRARAM || 5
‘ P(#)/4C
BEARING PLATE I TOP VIEW R6/4C NN/5C
RPUVIR (%) 05 \ _
J5 ISl KT13C B1 R7/5C. H
4 12.7m $22-368 — &) - B102
p — TS #22-605
I LEG a
. COLOR CODED 2 2
! I P 500 (#k)
R QF &
N |
e | &)
[ JBS % 3
I =
s [ KT15C 82 1518 <
i 4 15.2m 622439 g
l >
© 7l B7
2 gU "l THRUST PLATE A 54108 9
~ | FOR ROTATOR
| o-F-91R) 5 s
54—l 536 [ o001
% 3 & ‘ 4 kT18C 536 600
an 17.6m
—— g SEC—2C SEC—4, 5C
st ,
I
I CONCRETE
EPYUETS
I NOTES: 1. DIMENSIONS IN MILLIMETRES
| ] TEEIUA—BJU
| 2. MATERIALS: JIS.STANDARD
L HoR: IS BBILXS

3. FINISH: HOT DIP GALVANIZED
it L£: BFRELAYF

SELF-SUPPORTING BUF9D-

COMMUNICATION TOWERS  KT-C series

CMN-0110  DWT.024D

ELEVATION
o m &P

Creative Design Corp.




KT-R Series

For Middle to Large Size Antennas, 15~22m

Self-Supporting Tower Inherited from KT-C Series,
Enable to Earn a Tall Height of Tower and Installable a Large Antenna.

The KT-R series are complete self-supporting semi-tapered triangular towers. Like the conventional KT tower,
the KT-R series towers are composed of three rails (formed channel steel) and braces (tubings) bolted
together to fasten each other. They are intended for large antennas, and have a new design to make them
light-weight and strong. A side view of the antenna shows that the two upper sections (40cm wide) are
straight, while the 3rd, 4th, 5th and 6th sections constitute a tapered portion (giving a 1m increase in width)
seated on the lower straight portion on the foundation. This allows a minimum foundation area. Generally,
a self-supporting tower has a large lower part and an upper part which tapers to the top. In the KT-R
series is the tower designed and developed the stress problem by altering the materials of the antenna
members and the structure, obviating the need to enlarge the antenna. The structure and design of the
antenna tower are based not only on calculations but also on experiments under various stress conditions.
Particular consideration has been given to torsion, warp and directional strength, which are vital factors in
triangular cross-sectional, self-supported towers. A grounding plate is provided at the foundation to allow for
possible lightning strikes. This also facilitates construction and makes it easier to find the true perpendicular.
If the ground resistance is small enough, no other lightning arrester is necessary.

Working Schedule

Construction work for this KT-R tower is processed in two steps. The 1st step is to provide a foundation
for the tower, excavation and concrete. 2nd steps is to assembly of the each section units (above the
foundation) of the tower and to stack them on the foundation. Before start working the 2nd step, it must
to wait at least 4 days until concrete is formed. It is advisable to purchase the most appropriate concrete
for actual use from one of the dealers instead of mixing them by your own as timing is important. Contact
your local concrete provider and reserve them the concrete by telling them the required volume of excavated
hole and the time in order to meet the time for concrete pouring to be.

Tower Foundation
The tower foundation is buried under the ground together with the concrete as listed in the table below.
Excavation work takes approximately 3 hours with 2~3 workers.

KT20R
19.9m/h 1. Excavation, 2~3 workers required, takes 3~4 hours.
Foundation Work | 2. Assembly, foundation and upper sections
3. concrete pouring
Section Assembly | 2 workers required for assembly, takes 30~40 min. per 1 section.
Stacking 1. Stacking each section, 5~6 days after the concrete pouring
(by man power) | 2. 2~3 workers required for stacking above section, takes 20~40 per stacking 1 section.
Model No Height above |[Allowable Loads| Concrete Mast Diameter Volume of Weight
" |the Ground (m)| (m?) 45m/s (md) Rotator Package (m?®) (kg)
KT15R 15.0 42 2.0 0.60 295
KT18R 17.5 3.6 2.5 Mentioned in the 0.70 360
KT20R 20.0 24 3.0 Tower Setup Guide 0.75 430
KT22R 22.3 1.4 4.0 0.80 495

* Allowable loads denote the wind surface area of the antenna in the wind speed at 45m/s.
Equipment Supplied :  Ratchet wrench for assembly, corch bolt



0.44

ANTENNA MAST MAX. ¢ 61mm TOWER SCHEDULE < D — #1834l KT—R SERIES
(NOT FURNISHED) SPREAD JOINING | BRACING
FUFFEHIAN (BENTUEL) SECTION | piMvENSIoN|  TOWERLEC | TOWER BRACE] - "o 7 BoLT | WEIGHT
SEC-1R NO. RE & b=2 wakuh | Aukws | BHE
\jl M x N SM-570 STK-400 SCM—435 | SCM-435 KG
! C—34x25x34/2.6 M8x20
I P 1T 370x320 $x25x34 $21.7 PIPE s 31
I o | M8x30
C—38x25x38/2.6 6-M8x30 | M8x20
i o oT 370x320 B2Ox3E 621.7 PIPE 109 o 31
1 [}
Nugl C—38x25x38/2.6 6—M8x30 M8x20
‘ - 1R 510x440 2538 $21.7 PIPE s o 32
- o C—40x35x40,/3.2 8-M8x30 | M8x20
o | ° 2R | 55985 | "Channel’ | #21.7PIPE | " 109 10.9 i
2 =4 o C—40x35x40/3.2 6-M8x30 | M8x20
< .
~ ! SEC—2R SR | 800x695 Channel 21.7 PIPE 10.9 10.9 42
) C—43x35x43/4.0| ¢21.7 6-M8x30 | M8x20
i 4R | 940x815 Channel 625.4 PIPE | " 409 10.9 55
T C—47x35x47/4.0 6—M10x30 | M10x25 62
4 AN LG U OII\]J'I?SECTION SRX | 940xB15 ¢ 45.35x48)/5.0] ¢25-4 PIPE 10.9 10.9 67
9 C—47x35x47/4.0| ©21.7 6-M10x30 | M10x25 | 73
4 i HOH BRX | 940815 |C_835v48/5.0] #25.4 PP | " 109 10.9 78
‘ CMN—0911
w |
N = BOLTS H.T.B.
N ~ N WM snis
M8x30
I M10x30 X
(]
©
4 ° BOLTS H.T.B.
r e RN et
E ® STRAP / \ l ﬂ}
9 ~ @ / 23Sy <-‘- )
s E § LEG —LEG e — )%g
2
£ E N
M JOINER
I YaAF-
W J2, J4~J8 M=NiRb 8 ouED
o
ZE. LEG ;%NEEST'ON SECTION DIMENSION ¢ LOWER) TOWER LEG
=8 Er@E-HE (D i
~
M
N ANTENNA MAST
FUFFEMARZS LEG
i ARM
[ BEARING PLATE R—JOINER
BEARI!\IGIPJ.ATE } } RKPY VIR
£ RPY VIR B1 ¢22-368 —
Ig - B1 = -— §
- $22-368 TOP VIEW a3 Bl ___
77777 LG $22-464
~ COLE)R CODED B3A B10
2 BER -$22-500 622-1020
~N
M8x20 /ngzo
] o e
B4
1 B2 622-515 33
®22-439 LEG B10A
- —~422-1078
d ROTATOR PLATE
O-F—-9#§ M8x20
3z ~ i 1
N 85 B11
‘, s sours % 227535 - 625-1097
T H%ﬁ o sous E [ L
" KT15R # 410 4‘
‘ 1 15.3m
> SEC—1T S=1/325
o=
M
/ = i B12
>‘§ M1Ox25 ~625-1054
1w : €
i
% KT18R 17.6m - 625 536
2 /‘/ B12 2
x
E & N $25-1054 J
N s = i i
>‘<, PLATE
< >
J8 EN;\ o S e |
)
IS H KT20R 19.9m
— ! N SRS
! ' : ; e
1 1 > &
Q x| N
2 OE o s o
! i SEC—5RX SEC—-BRX  s=1/36
i i
NOTES: 1) DIMENSIONS IN MILLIMETRES
E HHEEIU A= b b
22.3 : JiS. -
ELevaTion KT22R 22:3m 2 T R @ SELF-supPoRTNG ~ BIIIE9 D KT20R
u & 3) FINISH: HOT DIP GALVANIZED ' . COMMUNICATION TOWERS KT-R series
S=1/65 it b BREGLAY Creative Design Corp. CMN—0010 DWT.024




T ———— e,
———— R

R

y
o e )

KT22SR
22.3m/h

KT-S, SR Series

Tower Height, 20~25m

The Most Suitable For Large Antennas, The Most Standard In Self-Supporting Towers

\"

=i

This KT-S, SR series towers are intended for a heavy and large-size antennas or where stronger wind
resistance is required. Unlike the KT-C and R series of tower, the structure of this tower is tapered from
the top to the foundation that gives high performance effectiveness for its weight and the cost that
installable size of antenna is 3m? or above. As the height is increased, size and the thickness of the
bottom section is consequently increased. This tower is the typical type of a self-supporting tower
standardly inherited its shape. The width of one face in the top section of this tower is 41cm, and an
antenna support mast of diameter up to 61 mm can be mounted on the top section where mount plate
for rotator and thrust bearing is attached. These sections which consists of 2.44m long section can
easily be hoisted and stacked toward the top using a jin pole and a rope. The dimension and
construction example for each tower of standard foundation shows in the following table.

Model No. Height above |Allowable Loads| Face Width at Weight
the Ground (m)| (m?) 45m/s |Bottom Section (m) (kg)
KT20S 19.9 4.0 1.39 420
KT20SR 19.8 4.8 1.54 480
KT22S 22.3 3.0 1.54 505
KT22SR 22.3 3.5 1.76 570
KT25S 24.7 3.0 2.0 670
KT25SR 24.7 3.5 2.2 690
KT27SR 27.2 3.0 2.5 810

1. Allowable loads denote the wind surface area of the antenna in the wind speed at 45m/s.
2. Grounding fixtures for foundation is attached standard, slub reinforcing is optional.

Dimension of Foundation

Model No. X Y D M Concrete (m3)
KT20S 2.4 2.1 2.0 14 4.0
KT20SR 2.7 2.3 2.1 16 5.2
KT22S 2.7 2.3 2.1 16 5.2
KT22SR 2.9 25 2.1 1.8 6.0
KT25S 35 3.0 2.2 2.0 8.1
KT25SR 3.8 3.3 2.2 2.2 9.7
KT27SR 3.9 3.4 2.2 25 12.0

Note: The figures in the table is assuming that the soil bearing is 7t/m? and dimension is in millimeter.

— 75

200

_GL [ 150
Y1 WS ST
SLAB BARS D10
LESS THAN @250
SEC—7R~11R
Y s3
M10x25

SLAB BARS D10
LESS THAN @250

(X=X2) ! GROUND ROD PEBBLES

X 3—PLACES U STONE PEDESTAL
¢ 14x1200



CMN—-0010

TOWER SCHEDULE % O —3t1A4 KT—SR SERIES
n SPREAD LEG BRACE JOINTING BRACING WEIGHT
ANTENNA MAST MAX. 0 81mm || BOLTS H.T.B. SECTION [ piMENSION h Sbe2 BOLT BOLT oy
not turnisned) —_ii PN No RE BRIV AL AL
FUFFHERRZN (8N TWIRW) I STRAP . M x N SM-570 STK—400 | SCM—435(10.9)|SCM-435(10.9)| kg
1
t S, C—38x25%2.6
V i IRT | 510x440 | “Ciannel | #21.7 PIPE M8x20 36
! — 8 C—40x35x3.2
‘ 2R 655x565 | opanNEL | ©21.7 PIPE | 8-M8x30 M8x20 40
~ ! JOINER C—40x35x3.2
) = 5 = x35x3. _
g & SaAF 3R 795x690 | “cranNEL | #21.7 PIPE | 6-MBx30 M8x20 42
C—43x35%4.0
% 4R 935:810 | Coimier 0| 621.7 PIPE | 6-M8x30 M8x20 55
- J1 5R | 1090x945 |CoimSaO 6254 PIPE | 6-M10x30 M10x25 62
ry VA BR | 1240x1075 |C47X35X40| 4575 pIPE | 6-M10x30 M10x25 62
o CHANNEL : —MTUx
& C—48x35%5.0
] x ° 7R | 1390x1205 | CA&ISE01 627.2 PIPE | 6-M10x30 M10x25 67
© —
° 8R | 1540x1335 | CGoRX39X5-01 4340 pIPE | 6-M10x30 M10x25 89
@ —
_ 2 = 9RS | 1745x1510 | Comamnar>0 | 634.0 PIPE | 6-M10x30 M10x25 96
< ¥ [ e 10R | 1090x1725 | C5S83950 | 4340 PIPE | 6-M10x30 | M10x25 | 102
5 o ‘% 11R | 2240x1940 | CGERSSS0| 1—s08AR | B-m10x30 M10x25 122
~ 2]
LEG JOINT SECTION 11F | 2500x2170 | Soim2® 0| L-308AR | 8-M10x30 M10x25 100
| IH RAH
4w @
™ 48+t
>\ N
/ N\ ~
~ >\< BOLT ’ \ N N
2 2 M8x20, M8x30 S
5 < / \ | :
X _f (__ > A: 38~64mm
- B: 25, 35mm
— 4 - F—wnM—A C:2.6~5.0mm
>\< BOLT M-NuAI oRED
N Nl M10x25, M10x30 SECTION DIMENSION ( LOWER) TOWER LEG
T & - W@ (T xa
= sty
_ J5 77 7Rn N RN—JOINER
! BEARNG PLATE 1 pqy
< RFUY | ]
é e LEG A 8—BoOLTS —9-
o ‘ :
E 5 5 e ARM Y, BEARING PLATE 4 N\~
Q¥ & T ¥ B3 ( RFUVIR
& o >< ¥ 022-479 \
A 46 Q% L TOP VIEW
~ % B4 ~ @
4| ¢22-515 58
N a J 3
B J7 | x
! 7
PY 85 ROTATOR PLATE
~ < i $22-549 o-7-9)
M [v4 J
g (4] L——
Mi f
s LS
T H‘ I M—JOINER <12 L—JOINER
P< N M10x30
5 “ LADDER GOLOR CODED i raL i
) -— (OPTIONAL) et = COLOR CODED
o LD41 2.44m | & M- 2
s5- a0
(FFVaFn)
UPPER BRACE
UPPER BRACE $27~34
$22 (025 L—40
~ ~
) x J N ®
< oy == n  ‘4}4p°- ™ 000000000y N A MM
- 23
110 KT25SR
—1 24.8m/h
SIS LOWER BRACE
-~ 627~34
N ———— LOWER BRACE L-40
3 = 25
§ T
. _ BOLT —_8R~
% s KT27SR SEC-4R,(5R)  8ou SEC—8R~11R
gk 27.2m/h
%° —
NOTES: 1. DIMENSIONS IN MILLIMETRES @
E TEEIU AR

ELEVATION
I @

S=1/80

2. MATERIALS: JIS.STANDARD

OB JS.ARBIKXB

3. FINISH: HOT DIP GALVANI ZED
Lt FRESHLAY F

ft

Creative Design Corp.

KT23SR, KT27SR

COMMUNICATION TOWERS KT-SR series

CMN—-1308 DWT.013E




KT-50SR Family, KT-100S Family

Tower Height, 28~50m
For a Middle to Large and an Extra-Large Antennas

L ITLE I
ARTENHA WAST MK, Elmma T

|
.‘g (T FuRNEED). | E
B i_
2| —H ;
: o =
& a1 T
& TE B
I . B= 2R
['.-'J | e % i g:i ? i SUISC
-! | iy uda 35 =
o 1o HET B HIRAeT
!._-.-; -IM-_L =
x : 'f
ey et e
+2E [
E a8 'y BuATFDSM
= u‘|-|_ B i LT
- f] b
L] e 7 3
s & R i
KT S fe
& B #
s o
] o H
SR s .
EE.“ ‘;' e e
Bl Al Sl
A [R5
N § -
" A #
1% s FK
Jia Tam/fn — i
x q-!;-
’ o ¥
1 @ 'ﬂ?ﬁﬁ- :
mth foeT Beur
d =] & .r:?:u
e =
W o E ] :
= KT3ESR. T "—Ei@
R HTBOE,
IE'Im;n
] ' ” i)
| | o .:]
i |
A2 KT455R.. 3
gt 48 5 [y ; i
ELEWATION ELEVATION
KTSOSR A KToass T ek

This KT-50SR Family of the tower, is a self-supporting tower offering the tower height from 28 to 50m designed for install a middle
to large size of antennas. The tower structure is exceptionally strong that channel type of main post used in KT-25SR family tower is
used in the upper section while tubing type of main post in the tower section is used in the lower section offering high strength of
structure. In the lower part of section in the tower where need for the high strength uses an unique bracing structures which fit to
the tubing structural main post that fitted properly with proper joint system with each other. Outer side of the tower from lower
section up to the SEC-5R, the ladder is equipped standard so that makes construction perform smoother for easy ascending.

Considering the workability of the tower construction, the foundation units is the type of main post structure enable to bury reinforcing
steels supplied.

KT50SR Family
Model No. Height above AIIowZabIe Loads| Face With at Weight
the Ground (m)| (m?) 45m/s |Bottom Section (m) (kg)
KT28SR 27.9 3.9 2.27110K 800
KT35SR 334 3.6 2.78/11K 1,190
KT38SR 39.0 3.2 3.71112K 1,650
KT45SR 445 2.5 4.64/13K 2,250
KT50SR 49.9 2.0 5.57/14K 2,930

Allowable Loads : Allowable loads denote wind surface area of antenna when the wind speed at 45m/s.



This KT-100S family, is a self-supporting tower of 60~100m height designed to intended for put a middle to large size of antennas on
the top of the tower. It enables to put a extra large of antenna if large and thicker diameter tubings of section is used in the upper
section instead of thin and slim section used in upper sections. Overall structure of the tower is almost the same as that of KT-50SR
family, but lower sections from 12K~23K (for KT100S) is constructed with 6m long. The ladder is quipped inner side of the tower
from below the section 10K in the meanwhile is extended outer side from above the section 10K. Furthermore, the lower side of the
main most below the section 15K is fabricated with a step-bolt for the sake of safer workability for performing construction. The
foundation is supplied standard with the main posts of ground bury-type and grounding fixtures. Reinforcing fixtures are optional.

KT100SR Family, Typical Models
Model No. Height above |Allowable Loads| Face Wid?h at Weight
the Ground (m)| (m?) 45m/s |Bottom Section (m) (kg)
KT60S 61.0 4.0 6.4/16K 4,660
KT75S 73.0 3.7 8.0/18K 7,110
KT80S 79.0 3.6 8.9/19K 8,560
KT90S 91.0 3.3 10.7/21K 12,160
KT100S 103.0 3.0 12.5/23K 16,810

Allowable Loads : Allowable loads denote wind surface area of antenna when the wind speed at 45m/s.



ELEVATION
KT45SR, KT50SR

£ HERIU A
2. MATERIALS: JIS.STANDARD
# B JIS.EBIXB

3. FINISH: HOT DIP GALVANI ZED
4 Lk SMERAVF

&P

Creative Design Corp

COMMUNICATION TOWERS

CHANNEL TOWER SCHEDULE KTS50SR AND BELOW #I50A KTSOSR LT
LFC SPREAD LEC 2R JOINTING 124 | BRACING ##
i SECTION | [ SPREAD £o 2t BRACE it TING CING #it1 | WEIGHT &
. /\ 1 No. 8 | M x N(m) SM570 STK400 H. HT. kg
I , CON CHANNEL TUBE M8x20
wsr | 1RT 510x440 | c_38x25x2.6 $21.7 10.9 36
~ / \ L CHANNEL TUBE 8-M8x30 M8x20
I I ' 2R B55x565 | c—40x35x3.2 621.7 10.9 10.9 40
1
M CHANNEL TUBE 6-M8x30 M8x20
: % F—M— 3R 795x690 | _40x35¢3.2 $21.7 10.9 10.9 42
M- N 8 CHANNEL TUBE 6—M8x30 M8x20
< - 4R 935x810 | oo 21.7 55
< [ SEC. 1T THRU 9R C—43x35x4.0 #21. 10.9 10.9
N - g CHANNEL TUBE 6-M10x30 | M10x20 02
a S o SR 1090x945 | c_45x35x4.0 $25.4 10.9 10.9
X CHANNEL TUBE 6-M10x30 | M10x25
T 6R | 1240x1075 | ¢ Shreseio 0272 10.9 10.9 62
K CHANNEL TUBE 6-M10x30 | M10x25
N \ 7R 1390x1205 | ¢_48x35¢5.0 $27.2 10.9 10.9 57
2 / \ CHANNEL TUBE 6-M10x30 | M10x25
% LEG / \ 8R 1540x1335 | ¢_50x35¢5.0 $34.0 10.9 10.9 89
= TUBING CHANNEL TUBE 6-M10x30 | M10x25
NI \O B o 9R 1750x1515 | ¢—58x35¢5.0 434.0 10.9 10.9 106
10K | 227001965 TUBE $34.0 TUBE | 4-M16x70 | M10, M12
H v X #76.3x5500 |40x40 CHANNEL|  10.9 10.9 320
>< TUBE ¢38.1 TUBE | 4-M16x70 M10, M12 390
T o [X 11K 2780x2410 | 489.1x5500 |40x40 CHANNEL|  10.9 10.9
- SEC. 10K THRU 11K TUBE TUBE 4-M16x70 M12
~ X
" §<< 12K | 3710x3210 | 4401.6x5500 $42.7 10.9 10.9 510
% TUBE TUBE 6-M16x70 M12
c 1 ¢ 13K 4640x4020 | 4101.6x5500 | ¢42.7~48.6 10.9 10.9 560
bes
I A B TUBE TUBE 6-_M16x70 M12
& N © x; T+ V 14K | 5570x4820 | 4101.6x5500 | 42.7~60.5 10.9 10.9 660
o~ v
a .
£ o5 DR ﬂ} CMN—0505
£ o X g BOLTS H.T.B.
E Y zNd S BARIE
28 o ©KkH , STRAP
o b A: 34~58mm Sy
ee %7«5 G ouEd B: 25, 35mm
e g/ TOWER LEG  C:2.6~5.0mm — tEJej
£ <+ & >
fg% SN IR £ JOINER
selo %” = J2A7- LEG/SEC—9R
a M—JOINER CHANNEL
T o KED> SN
< = RAIL | BOLTS H.T.B.
N - CC;.OR CODED ) BOLTS
J8 R H.T.B.
% ] o= . BRACE
‘ < a o FLANGE
I «w JOINING
>y
q O ™ @
. UPPER BRACE e
R () = a 622625 ] LEG/10K
£ N | B[ e
£ =
£ -
E |
s u
E o 2 ] LEG JOINT SECTION
s : = E3: 3 15
I 8 £ o A4
2 z S JOINT SECTION J9
2 I — IaozngR BRACE T He
] o
£
K J10 BOLT
SEC—4R, (5R) M10x30
OUTSIDE
o « LADDER . B84 LD40/10K
© - A5 T- LADDER BRACKET M10%25 629x822 \H»ﬂ s8
. % 4-M16x70
- - — 7T 9 HB1 "BROWN" B
LRAL 0175 | @ C—40x1702 676
4 ; L
| ) STEP =
l— 350 — L1 B
—~ 634x1083
LADDER TAB
~ T L—-50x1702 fngrouA —
. u STEP 617.5_ || 9
e & 8§ u 14-PLACES =
E a ‘T‘
E = RAIL HB2
S a 40x20 o C—40x1864 _
(- M
R 2 _u2 H B2 o
£ u 634x1198 8
a 1 € 0
3 Q E s5
K& = 8 £-M12x35
o « m S HB2L/ LADDER TORQ: 11kg'm
X ) ] T L—3x30x200
u ° _
? W of
X.
R 413 KT45SR. ®34x1308
445m/h
0707, 8 HB3 N
| T | C—40x2040
o x — 350 —] 4
o T s7
T 4-M16x70
LADDER, LD40 HB3L LADDER SEC—10K  TORQ: 20kg'm
59—
3 J14 KT50SR.
€ g 49.9m/h
£ 7 NOTES: 1. DIMENSIONS IN MILLIMETRES

- KT45SR, KT50SR
KT-SR Series

CMN-0010  DWT.018




CMN-9701

TOWER SCHEDULE KT100S AND BELOW #BEA4 KT100S T
SPREAD LEG it BRACE #ttt JOINTING %4 |BRACING ##1
SECT'C.’.N DIMENSION | SM—-570 STK400 BOLT b | BOLT Ak WE'EHTﬁ
//'\\ﬁ 0. B M x N STK—400 | STKM—13A SCM435 SCM435 9
vAST | Gl N 2R thru 9R | 0.51x0.44 | CHANNEL TUBE 3x18—M8x30 M8x20 520
* \ii \é S i (3R~9R) | 1.76x1.53 x2438 $22,625,634| 3x18—M10x30 M10x25 (480)
} - TUBE TUBE M10x25
x I v—] 10K | 2.27X1.97 | 476.3x5500| 034,638 | 3x4-M16x60 | M10x35 330
2 TUBE TUBE M10x25
i = To SEC. 2R THRU 9R 11K 2.78x2.41 | oo ss00| 634,638 | Sx4-MI6x60 | HooRSR 390
M o
5 S TUBE TUBE
E e K E 12K 3.49x3.02 | 4102x6000 | 38,643 3x4—M16x60 M12x35 530
E E o) TUBE TUBE
3 % 3:74 <; OUTSIDE / \ 13K 4.21x3.65 | 410246000 638,643 3x6—M16x70 M12x35 560
o2 £ LADDER TUBE
a 29 T8 smss- , . N 14K | 4.94x4.28 | 4114n6000| s38veag | 0-MI670 | WSS | 680
- w o 9
a 5 LEG TUBE TUBE M12x35
S fep TUBING l 15K | 5.68x4.92 | 41146000 | o¢43,649 | XB-MI6XT0 | \igao 750
s o KP - TUBE TUBE M12x35
a3 'Q L o o} 16K B6.43x5.57 | 4140x6000 | 643~061 | 3XB-M16x70 M1 e§4o 900
N
x KB b—v— TUBE TUBE
C s 17K 7.20x6.24 | 414056000 | o49~876 | SXB-M16x70 |  M16x40 1150
+— ) SEC. 10K THRU 16K TUBE TUBE
[ & El < 18K 8.04x6.96 | 4140x6000| ¢49~676 3x8—M16x70 M16x40 1300
e N PLATFORM TUBE TUBE
m§ . ) @ /e g 19K 8.90x7.71 | 416546000 | 649~676 | 3x8-M20x80 | M16x40 | 1550
oEE v [ TUBE TUBE —
£3 SKD mv} 20K | 9.78x8.47 | 416546000 | o49~s76 | SXE-M20x80 | M16x40 | 1300
s d
8 = < < 21K [10.68x9.25 | 410506000 | s4etiyg | 3x8-M20x80 | M16x40 | 1700
% ey TUBE TUBE
o 9 x <:> 33 22 ggnn:z 22K 11.6x10.05 | 6 16556000 | ¢61~s89 | 3¥8—M20xB0 | M16x40 1550
I_ : < €:2.6~5.0mm 23K | 12.5610.83 | 410505000 | 061 gg | 3xB-M20x80 | M16x40 | 2000
TOWER LEG
[ o <j £ (KT1008) NOTES: 1. DIMENSIONS IN MILLIMETRES
© £ o 2 THEEIUX—b)U
< - 2. MATERIALS : JIS.STANDARD
E 12 M—JOINER OB JS.ERicES
=9 > ST RAL 3. FINISH:  HOT DIP GALVANI ZED
- . 1 cOLOR copED BOLTS H.T.B. b BRENAYF
© E i} Q) BER STRAP
& - ~_LEG () LEG/SEC-9R
=) 13 C S\ JOINER CHANNEL
7w
& UPPER BRACE
v x $22.2(625.4)
© ¥ b 1 BRACE
J —] BOLTS H.T.B. FLANGE
3 14 bl INSIDE __ JOINING
LADDER
£ RS s — o LEG/10K
. . B .
~ © n °
o ©
= -—- LOWER BRACE
15 Q $25.4 i Lee
' BOLT
© x| M10x30 LEG JOINT SECTION JOINT SECTION J9
=l SEC—4R, (5R) X oY T AL
1 1 4 BAE
400
© S FgganEjuoll:T Cras 4= CLIP
- ™ MOUNT —j= = - D34xB56 Mioe25 1760 —
17 ol © < CABLE BRN_ a1
i N S © C O 013~052 HB1
STEP 40x1702 ” -
[ SC1
© g & U B1
E — LADDER BRACKET ¢ 34x1083
1 Es KT75S. 73m/h T a5 1|8 L—sgs%oz LADDER TAB L__
n "\ TTTTTTTT7
- STEP L1
o 2x| RAIL Lssoﬂi
<2 390 o
o HB2 F
Qg r C-40x1864 €
i KT80S. 79m/h Q2 B2 S
a 7777777777 - ¢ 34x1198 o
(%2}
STEP ¢ 17.5 8
14—PLACES] 8 le]
RAIL ™
40x20 i
Q
«©
<
n
KT90S. 91m/h S
77T M
lg b
2| 1
- 350 —
SEC—10K
LADDER, LD40 OMN—0505
SF1
M16x130
KT100S.101m/h LEG BELOW SEC—15K

ELEVATION
KT100S AND BELOW

E: SEC—-15KMF

S=1/300

&>

Creative Design Corp.

KT100S, KT90S, KT80S, KT75S
SELF—SUPPORTING TOWER

DWGT.016




